NOILVAT 14 _
_ . ,
J5¢9 J5- INAOOW JAJFS W N -
'ON ONIAVYT 092 ) Rmnzm O 2
JAVYHd JONVTS Etmmﬁm IS o
2¢ 40 L _ NE:-988 g o 2
SIANOT Q98¢ 9—(JSH 93538 & &
'ON_ 133HS 3LIL E WmmmmW i@ m
: - NISNOJSIM sEe T g2
he _ﬁém \mﬂq%tomﬁwmm mexam_m.n_ ) Emmm.mw mmm
SN et
otoz/sz/gl  san 1 NOSIHINESES =l 583 |

&1
")
no
(4]
& >
il | * ¢
U =1 ~_, b 8
0
8]
S
=
BE
e ] 1 ] o4 ek — ] 4 = == 4= = =[] .w
4] il I N O DO O T IIrrcCoCdaTs el 1+ 42 e e WR
ot
83
[ ]
™~
¥
)
| g
[m]
2 £ ¢
=
By &
LA L L A Ll 2 2
e N
Q o e}
Oo_.r_ o |
Q- i
o~ = O
~ mm
ﬁ :
p}
= § ¥
g i b
=D 2
BE
- ——4H Ll Ll daddat i eiddgaat e e =
= -~ t++++———19t+t++ =TT+ T T mm
23
O
o™
~
% :
0
ﬂ :
I —) ] '
L_1__ 1t ¢ .__.,
i
9G1°0 —cfo— 1H9IAH ¥3IANOT VNLOV "XYN 000°++L —t=—95k0 7
< 1HOIEAH 3A31S 40 3AISLNO XYW CLE ¥ — ﬂm
' o
0S'0 Ol 0S'0 OL
‘dAL 0gZ0 T T 'dAL 0SZ°0

- LHOIFH ONIN3dO ¥3ANON .




NOILVAT TS
dse9—-ds54 C /

ON_ONIMYIT 0¥3 mMmmm / "
77 10 7 INAOW JTONV SNONNILNOD Hwawmm i} 2
¥3IANOT 0SE9—(S3 I HER -

DN_L33HS ERIREE Nmma § % %
vl 01¥0-9/b¥S NISNOJSIM 44 Esmm....m 2 3% @
37938 ‘013140HDS 0ly x080'd C 23gd mmm a

W sw.ﬂ

’ _om\mmuﬂm_ mw_m NAYAT %@@E@@@@@ m §°8

U ‘o, v i sk WP . WS WSV V. M, S S, S S S—. Sen. S

(13
/22
0.125 TYP,
70 0.375

d:;
1
-
e )——
—

IS S IS N R U A St A Sy N

4+ I N N N N N D A I

|
11

72.000 MAX. ACTUAL
LOUVER WIDTH

r
!
|
I
|
|
|
l
l
]
|
[
I
|
72.000 MAX. ACTUAL

LOUVER WIDTH
UNLIMITED LOUVER OPENING WIDTH

BTt ¢
= L= )
&3 :
Fl.‘w.lnu:d_ oo Y N O [ SO N Y Y S 0 N A O (N O O Y IO O mm
o
88
o~
™~
—-14 I
(W Ly A,
i
Y LHOIZH ¥3ANOT TWNLOV "XV 000} = oo
—Ce— , " SLe°0 QL ] ™
dAL SZ1'0 ‘dAL SZ1'0 et =

= JHOIZH ONIN3JO ¥3ANCT =




-
U g

D
B
8/25/2010

a
@
®

= _,‘m_—]
-5
3 14
iy
i
o
13
A
W

=
M=
L

0.250 TYP,
TO 0.50
0.156

S5 OF 227

MES
1:24
CAD DRAWING NO.

ESD—63520D

DRAWN BY
SCALE
SHEET NO

LOUVER OPENING HEIGHT
144,000 MAX. ACTUAL LOUVER HEIGHT

144.313 MAX. OUTSIDE OF SLEEVE HEIGHT

P.0.BOX 410 SCHOFIELD,

WISCONSIN 54476-0410

GREENHIECH

FLEVATION

i)

FLANGE FRAME
SLEEVE MOUNT

ESD-635D LOUVER W/VCD-40

TITLE

RICE

ENGINEERING

105 Schoot Creek Trail
Luxemburg, Wi 54217
Prhone: 920.845.1042
Fax:  920.845.1048
www.rice-nG.com

{ a Texas Firm No: F-2183
i David Rice
W foo patration My 81248
OF

~— 0.156 0.156 ——l-— CROSS SECTION

. 36.000 MAX. ACTUAL _ | 36.000 MAX. ACTUAL __|  36.000 MAX. ACTUAL _ _| _ 36.000 MAX. ACTUAL _ _|_  36.000 MAX. ACTUAL _ _|_  36.000 MAX. ACTUAL _ _|
LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH

OUTSIDE OF SLEEVE WIDTH - 0,129 I
UNLIMITED LOUVER OPENING WIDTH

AUG 29 2013




o
=)
N
HORIZONTAL P Q\
(25 /28) CROSS "SECTION (23 5 =
B - UB D = | 0
f: T T = T T T T 5 Ll |5 ™
' d} ] r S - r S - r S - 3 % io | O = W
)
== — : Ly ol Tls o [ |
Zli NIz z O
§ = W = 98
—
g 3 2 ?
[=] %] %) [ ]
@)
Y=
~ 52 | =
= 2oz o S
OLL Q9
mmg > s
x03| =
Z Lo
= o " - prd
G<5 52 2
%2,
= =2l = Z <
& 20| D
T G2ag =
= - @ ol O W L
L] azl < D d
. o
o 0O o
-
g n =
z 2 M) =
g P =
S < |
A ©
o .
S o -
]
3 RICE
ENGINEERING
105 School Creek Trait
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax:  920.845.1048
QE. "“3 vavw.fice-inc.com
o 8 Texas Fum No: F-2183
NC:) ' 'Javid.R's':.e
gl- & tentian Ay 9,1248////
| 36.000 MAX. ACTUAL | _.| 36.000 MAX. ACTUAL |_ _ 1 36.000 MAX. ACTUAL{
0.125 Typ, | WOWER WIDTH | 35000 max. actuaL | LOWER WIDTH [ 36000 wax. AcTuAL | LOUVER WIDTH  |'56600 Max. ACTUAL |_
: LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
UNLIMITED LOUVER OPENING WIDTH
TAUG 29 2013




PoNER TGHT < e, | =
BUILDING STRUCTURE/DEPTH MAY VARY. L B
o A\ LGVER TEHT < 144 ™, BUILDING smucrumzé INCLUDE BUT NOT N N
5 g _— LIMITED TO WOOD FRAME, STEEL STUDS, <
3 3 NG STRUCTURAL STEEL AND CONCRETE/MASONRY g WELD N
o g8 U
e (BY OTHERS). o N )
¢ g PERIMETER =] O
e E NG Eey @ CAP [ E®© Ll
= § e 125/ 17-8 SPACING 8/CONNECTION O = O
- 0
T 8 3 1257110 A )
Ly 3 P~ ol alg o E
f ; Z ~ A 2l N2 W 2 N
f :)/ T ' g 3] ==l £ 0
L - — B — = 2 15 a
—80e o.c \@ N S
| RON
[ \ | SPACING .
e ¥
| = —
| | 18" 0.C. DLl o T
SPACING * WES W oo —
| oY e
E ZIN = s ZW»
| o @ o |83 I 2 =
| m TE 4 X O <
| =2 - = =L
BLADE SUPPORT AND | @EB O oy O
_ BLADE SUPPORT ANGLE | g2 0 O >
¢ NOT SHOWN FOR ©d5 Rz o -
2 5 gﬁ CLARITY. SEE PAGE 8 o L =
g 7 DETAILS FOR BLADE | O b wn v
5 gg SUPPORT OPTIONS. | 7 3
g -] w | |
O
5 ég | 18" 0.C. <C
I L
SPACING @K 1 L
| = I
, | =
| O |
| ./ RICE
| & ENGINEERING
D I 105 School Creek Trail
] Luxemburg, Wi 54217
/ | Phone: 920.845.1042
. . Fax:  920.845.1048
/@ A WWW.ICE-ING.com
6" 0.C. | S | |
. seacive 92, |1/ ‘ T s
J x | ] | ﬁ = 7 S ststration No: 812%/
| = / °
N 1257 17=10 — I =
* l T —Hr 41 : 1 |E '//
F— & _ — @ 5 WELD PERIMETER / @
11g 3 | / / @ CAP
~ - ] td
535 S _ \@) S 8/CONNECTION 39
(= .
Y (:5 BUILDING STRUGTURE/DEPTH MAY VARY. . - 5
£ E o) T i At A, \ BUIOING STRUCTOREL INCLUDE BUT NOT < @ d . Q.-
q 9 2 N LIMITED TO WOOD FRAME, STEEL STUDS, SILL DETAL S81sTeR e
5 NG STRUCTURAL STEEL AND CONCRETE/MASONRY /28" LOUWVER HEIGHT < 144 IN. TONAL G
{BY OTHERS). @ N
AUG 22 2013




BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT

| LIMITED TO WOOD FRAME, STEEL STUDS,
STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

6/CONNECTION

w3
§ § m ma&m < 96 IN.
Re =/
£ g O\n
l ' ] ? /_12577'—_10‘
’ T # % 2 \\
! T : -
s it \
A e
@ BLADE SUPPORT AND
BLADE SUPPORT ANGLE
g NOT SHOWN FOR
2 E z CLARITY. SEE PAGE 8
z =§ DETAILS FOR BLADE
& oy 53 SUPPORT OPTIONS.
s B3
s 32

~ ‘
22

18"

N SPACING Q@
I

SPACING

0.C

O

0.125 WP, T0 0.375 —~| |—
0.25 TYP, TO 0.50 ——{ | |=—

SILL DETAIL
LOUVER HEIGHT < 96 IN.

N

18"{ 0.C. %
SPACING ____@
@ L
/ 257115
6" 0.C. | /@)
SPACING »
/ @ i i
28/ 70 gf g /@
—1 - = z E a
: & _
G 6,/CONNECTION

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT

\— LIMITED TO WOOD FRAME, STEEL STUDS,
STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

4 WELD INTERIOR
@ CAP

<

HEAD DETAIL
LOUVER HEIGHT < 96 IN.

3 WELD INTERIOR
@ CAP

(T,

vV

SILL DETAIL
LOUVER HEIGHT < 96 IN.

(2

O
O
N
D N
LN N O
= ™ LO
il L g ™
[mu]
O | O
3
| ~Nig = |
=4l NE © O
= L.J‘_E =] m
i e RUW
[ ] %] [%2] [
. ©
Ao 0))
SR Vi
@u.\b o T
@?)Q T T i,
L5533 2 Y
Egg O é O <
M ol — 1w = E
UG 2 a
QE=o| F W w
@:}2 n & >
oz ©O = 1 _
< Ll 75
ey
%) 3
- (]
<
.u Lol
- T
=

CE

ENGINEERING

105 School Craek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www.fice-inc.com

. David Rice

Tiexas Firm No: F-2183
gegistration No: 81248

AUG 29 2013




e

HEAD OETAR,
5 LOWWER HEOMT £ 144 I
b

SUBSTRATE LIMITED TG WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) 1S FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP,
DETAIL !S TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

"

-t

QAUS TYP, T0 0378 ——of fo—

Tﬁ

y
L
5

@ /@@ 8/END

/ 7 B

—o] |o— 0128 TYP, TO 0370

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
{cMU) (BY OTHERS).

s oeoa
o )\ LOVER HEGHT € 14¢ N
A

EXCESS MATERWL BEYOND FASTENER
EDGE DISTANCE IS ALLOWED TO BE

< ﬁ REMOVED (THIS LEG ONLY).

<7 ]  MULLION ANGLE MOUNT (SHOWN HERE AT SitL)
S FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DIiSTANCE BE ACHIEVED BY USE
T y OF HOLES IN TH END CAP. DETAL

MULLION DIRECT MOUNT (SHOWN HERE AT
HEI.QNB FOR SUBSTRATES WHERE MINIMUM
Fi ER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP,
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

HEAD DETML
mmmsnu
)

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

0128 TP, T0 0378 —f f—

)68 6/END

i ﬁ

—] (— G925 TYP, TO 0578

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
{CMU) (BY OTHERS).

@L’u"mmmtuu

I
TN
EXCESS MATERIAL BEYOND FASTENER

EDGE DISTANCE IS ALLOWED TO BE
REMOVED (THIS LEG ONLY).

< —H

R —

<MW MULLION ANGLE MOUNT (SHOWN HERE AT SILL)
IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE BE ACHIEVED BY USE

ammme—  OF HOLES IN END CAP. DETAL

IS TYPICAL FOR BOTH HEAD AND SILL
— CONDITIONS WHEN APPLICABLE.

DATE

8/25/2010

DRAWN BY

/ OF 22

MES
1/3
CAD DRAWING NO.

SHEET NDO.

ESD—-035D

SCALE

P.0.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

GIRISENHIECI

ESD—-635D LOUVER
CONTINUOUS ANGLE MOUNT

I HEAD & SILL DETAILS, H<1447,
HEAD & SILL DETAILS, H<L96”

SLE

by

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax:  920.845.1048
www.rice-inc.com

exas Firm No: F-2183
. David Rice /
agistration No: 81248




TYPICALLY, ONLY ONE BLADE BRACKET TYPE (ITEMS
13 & 43) IS USED ON THE ASSEMBLY. BOTH
STYLES ARE SHOWN HERE TO SHOW DIFFERENCES.

L

L

TYPICALLY, ONLY ONE BLADE BRACKET TYPE (ITEMS
13 & 43) IS USED ON THE ASSEMBLY. BOTH
STYLES ARE SHOWN HERE TO SHOW DIFFERENCES.

&

AN N\

A
E%@ L

BRACKET IS ATTACHED
TO SUPPORT ANGLE IN
TYPICAL STYLE AS
SHOWN IN DETAIL 9.

®\

BLADE/BRACKET IS
ATTACHED TO THE
BLADE SUPPORT ANGLE

BLADE/BRACKET
THE SILL ONLY.

/
IS ATTACHED TO )

NUBS REMOVED
AS NEEDED

WELDS ARE ALLOWED TO BE
REPLACED BY TYPICAL BLADE
SUPPORT FASTENERS WHEN

ROOM ALLOWS. =

BLADE/BRACKET IS
ATTACHED TO THE
x4 BLADE SUPPORT ANGLE

®\

BOTTOM LEG

CUT OFF
bOR@

=

NOTE: THE BLADE SUPPORT ANGLE (ITEM 7A) IS NOT SHOWN IN THE BOTTOM
THREE DETAILS IN ORDER TO IMPROVE DETAIL CLARITY, THE BLADE SUPPORT
ANGLE 1S NOT ATTACHED TO THE BLADE SUPPORT BRACKET (ITEM 13 OR 43)
IN THE BOTTCM THREE DETAILS AS THE BRACKET IS ATTACHED TO THE SiL
INSTEAD. BLADE SUPPORT BRACKET ITEM 43 CAN REPLACE BLADE SUPPORT
BRACKET 13 (SHOWN) IN ANY OF THE DRAWINGS FOR DETAIL 10.

BLADE/BRACKET  BRACKET

IS ATTACHED TO oyt SHORT BLADE,/BRACKET BRACKET

THE SILL ONLY. IS ATTACHED TO CUT SHORT
THE SILL ONLY.

WELDS ARE ALLOWED TO BE
REPLACED BY TYPICAL SBLADE
SUPPORT FASTENERS WHEN
ROOM ALLOWS.

J

WELDS ARE ALLOWED TO BE
REPLACED BY TYPICAL BLADE
SUPPORT FASTENERS WHEN
ROOM ALLOWS.

==

O
O
o
} Q\
Y N (O
N o
= 00 L ™
]
O | O
0l L z |
sy QE O g O
==l BV
E g F g W
M/ [#5] %3] [
ao
-— m
Sgwp —
3
OLo| o <
%5? L L
< (]
=20l 3
— Z o —
W~ 3 a2
) < 2 O
G229 & -
Gesl ™
=6 8
|
() L
v [
G5
AN
L
|
'—
: .
ENGINEERING
105 School Creek Trail

Luxemburg, Wi 54217
Phone: 920.845.1042
Fax; 920.845.1048
www.fiCe-inc.com

Texas Firm No: F-2183

L. David Rice
Registration No: 81248 /

AUG 2y 2013




STVL3aA gwvr <)
¢C9—(054
g INNOW 3A337S mummm

ON_ONIAWST 0¥I Hrm...... 2
- INvYS FONVTS I W R
¥3AN0T AS£9—AS3 S L I "
ON_L33HS | R 5288, % §of .
z/ 1 0I¥0-9£v¥G NISNOJSIM @ 83381 ge2 2

Jwos|  ‘073140HIS 01y X04'0'd M T

T | HOSHNSEED

o

@/ 173

SUPPORT DETAIL
@ LOUVER HEIGHT < 96 IN.

SUPPORT DETALL
m LOUVER HEIGHT < 144 IN.
&

@ 1= - 1]
,g@é . W_mmwwm
SN, el 1|6
ol

*(S¥3HLO A9)
AMNOSYN/3L3YONOD GNV 133LS TVANLONMLS

‘sanlS 1331S ‘INvH4 AOOM OL J3UAN
1ON LNg 3AN10NI S3¥NLONYLS ONIdTINg
"AYVA AV H1d30/3¥NLONYLS 9NIgTINg

0125 TYP, TO 0.375 ==

12" 0.C.
SPACING




SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS).

AN %

1
0.75 MIN 8" 0.C.
I SPACING

Wk

W

2/END, HOLDS SHIM BLOCK
7

O

2/END, HOLDS SHIM BLOCK
7

e i
ALTERNATE ORIENTATION —" |
(CAUTION, BOLT CLEARANCE)

A\

ACTUAL OVERALL LOUVER WIDTH,
0.125 TYP, TO 0.375 —= SECTION WIDTH

SUPPORT NOT ATTACHED |
AT HEAD AND SitL AS |
TO ALLOW (T TO "FLOAT"

DURING BLADE LOADING. |

SUPPORT NOT ATTACHED
AT HEAD AND SILL AS

TO ALLOW IT TO "FLOAT"
DURING BLADE LOADING.

SUPPORT DETAIL
148\ LOUVER HEIGHT < 96 IN.

&

O
S
~ N
T
oy N -
'_
S 00 L PLQ
O O
< WO
2 |
=Y N2 2RO
= Ld‘_E a )
-
[ ] %] [7¢] %]
Ao E
S . 3
L Ll o
MEs| u =
Eug > 73]
%35 So £
ng = Lol
o4 (- < (]
e mo|
G588 o
oz O D =
| O <t
0oy 2D -
N =
L =
=
O
W Q
-
=
-
ENGINEERING
105 Sehool Creek Trail

e 2 3 it |

Luxemburg, W1 54217
Phone: 920.845.1042

Fax.  920.845.1048

www.rice-inc.com

exas Firm No: F-2183
. David Rice
egistration No: 81248




18" O.C.
SPACING

A=
e

Q
DN

"-@

/—/.
© Y\
o /|

@ |3
Z

]

G Rt

LR

/ N &

\EXPANS!ON JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

————— ACTUAL LOUVER SECTION WIDTH —=-+=——— ACTUAL LOUVER SECTION WIDTH ———

15A

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
LOUVER HEIGHT < 144 IN.

o,

18" 0.C.
SPACING )

6" 0.C.
SPACING

S

L1

@/ GB/ ™__EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

— ACTUAL LOUVER SECTION WIDTH

158

ACTUAL OVERALL LOUVER WIDTH

r——— ACTUAL LOUVER SECTION WIDTH ———

MULLION DETAIL
LOUVER HEIGHT < 96 IN.

&

)
8
. N
Te) N O
L.JQ Yo
LS
S L |
O 8 b
0| ol z |
—
=Y N O
"Ll BV
5o
_Jllt
e
Lo o
D\D
~ L )
%5@ > J =2
TR D =2 <C
%o O<f:)l—
T2 O x O Wl
w]m - = O
W=zl o
CE=mol v W W =
o2 m O > O
@0_'3 O Z W =
R
S I T
72 =
.LI-l
]
—
-
=
ENGINEERING
105 Schoo! Creek Trail

Luxemburg, Wi 54217
Pnone; 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Texas Fim No: F-2183

L. David Rice
Registration No: 81 248//

AUG = v 2013




[ ==

s b~ i

S ILSH ‘STVLIIA NOIMTINA
A5£9—01S3 o

Se O ,
ST INNOW 3T9NY SNONNILNOD o =gil N §
TP o
G =00 MIANOT 0GE9-AS3 S9%ag: § & ]
‘ON_L33HS 37L1L Nmma m m 5 b
sz/ 0IF0-9Zb»S NISNOJISIM E Esmmum 3% =

ERLAN ‘0713140428 01 XD4'0d % S BEEL T mm..m

owoz/sze 3| MOSHNEEND ~ L

"SHICIM “TIVIAD ONOT NO @3sn 38
>§o~.oo»%uo§o..zomz§ﬁ\/~

T

69—t

e

3LvHLSans

O O O O

*T1GvONddY NIHM SNOLLUANOD

THS ONY GvaH HLOB HO4 WIIdAL S

WVI30  "dvD GNI NOITINW _3HL NI SI10H 40
3SN A8 GIAIHOV 38 TONNVD 3ONVISIA 39503
YANILSVS WNNWININ 3¥IHA SIIVAELSBNS ¥O0d SI
(TS 1v 343K NMOHS) INNOK FIONV NOMINN

HLOW NOUD3S H3IANOT TV

IO EANOT TRRIBAD Y

HIOW NOLLD3S ¥3ANON VLY

‘SHIAIM TIVM3A0 ONOT NO 03SN 38
AW SZT°0 QL dN 40 INIOF NOISNYEXI

L

NIOVdS
00 .9

©
"o

O O ©O O “\\hwkbw O O ©O O D
o o0 o oy ¥ Yo o @0 O
7 p
[/ % 200 ERasvs
Z /
||||||||||||||| AR |
m_ba@_._.mm:m\ g \
ONIDVdAS
00 81

g o g

‘A1EVOIddY N3HM SNOWLIANOD TS ANV avaH Hlod
¥04 TVOIdAL S| TTVI3d _ "dvd ON3 NOIMTINW 3HL Nt S3T0H 40 38N
A8 G3AIIHOV 38 NVD 3ONVISIO 3903 ¥INIISVY WNNININ 3HIHM

S3IVHLSANS 04 S (AQV3H IV 3Y3H NMOHS) INNOW LO3MIA NOITINK




96>H ‘'S1IvLi3d NOITINW
ase9—as3 | N
ON_ONIAYED 093 . ST INes i Mmmmm N R m
INNOW 3T1ONV 32555 %
GG SO ¥3ANOT 5£9—0S3 mmwmmm 2 g o
'ON_L33HS 37LIL Nmmeg.m ‘% e
Sz/1 01¥0-9Zv¥S NISNOISIM E Ewmmxa N.mm =
L ‘@13140HIS OIF X09'0'd @ S IN-ET XS mmm
ST0T/5S S, MOSHAEEWD ~ .|

HLOUW M3ANDT TVEEAD MLV

HLOW NOUI3S ¥3ANO0T MUV

‘SHIOW TIVHIA0 ONOT NO d3SN 39
JYW €20 OL dN JO INIOP NOISNYA

mﬁﬁ

&P

&

3LYH1SENS \ @“

ONIDVdS
00 8Bl

ed

an3/9

“TNEVONddY NIHM SNOLLANOD

TIS ANV QvaH HLO8 ¥0d4 TvOIdAL S

WVI3a  “dvD GN3 NOITIOW _3IHE NI STIOH 40
3asn A8 G3AIHIV 39 IONNVD 3ONVLISIO 3903
NIANZLSVS WNWININ F¥IHM SILVHLISENS 04 Si
(TIS 1v 3¥3H NMOHS) INNON FIONV NOITINA

HIOW NOUWIES ¥3ANON LY

HLOWM MEAN0T TVEEAD TWULDY

HIGIM NOLLI3S EAN0T ™MLY

‘SHIOWM TIVM3A0 ONOT NO Qasn 38
AYW STO QL dN JO INIOP NOISNYAXI

@E ﬁ |

& Pe

| RB RN T}

ONIOVIS
'0°0 .81 "TISVOMNddY N3IHM SNOLIGNOD
TUS ONvV avaH H108 ¥04 TWOldAL SI V130
*d¥) GN3 NOITINW 3HL NI STI0H 40 3Sn A8
Q3ATHOV 39 NVD 3ONVISIZ 3903 HINIAISVY

ANNININ 33HM SAUVMISENS ¥O0d4 SI (Ov3IH

1V 343H NMOHS) INNOW LO3MIQ NOITNN

MULLION DETAL
174\ LOUVER HEGHT < 98 IN.
=/




\Y NS % AV3H By em
4S$9—as3 > 1vL3d o
. INNOW FT1ONV SNONNILNOD % mu |
ON ONIMvAd avd| i > mmww N ~
INNOW 3A331S/M JNVYS JONVS SR _. =
¢¢ 40 vl 3 _ > 85828 g ¢ n
0%—00A/M ¥3AN0T AS£9—AS3 S3e88) ¢ & x
ON_L33HS 3LIL Nmm 2% 3 o
¢/l 01¥0-9/v¥S NISNOJSIM Sa Ewmmxm 2g4% 3
3193S ‘013140HIS 01y XO9'0d %‘N C S3ED mmm <
owe/See S,,|  YOSHNEBYO ~| L
:
i
i
()

S R £ 1w

"L 1

o0 —

WA NI WY

OF® Of ‘duL 080 —| (1=
B0 OL "dAL S0 —| —




O
o
< N
L& N o
= TR I
(30 2 REQD O 2 ©
LD g O Q[
MANUAL QUADRANT ACTUATOR AS SHOWN §§Lj‘—$ & o
NOTE: DAMPER MAY BE OPERATED BY g [z @ a L
MANUAL QUADRANT, AN ELECTRIC OR EIE [ R 77 O
PNEUMATIC ACTUATOR.
Ao
Y2 us S
Betl e =
L S<| L =
E ZIbS B 5
S EE <
“ar O
oigf o 2
: D
G5 Y S
(] 1
QO <
= D
=
<T
E
_________________ CE
ENGINEERING
msagmla
%—-féﬂ%?é.usnm
Fax  §20.845.1048
e, TICa-iNC.CoMN
Texas Fir;‘l No: F-2183
1. Dawid Rice
Ranistration No: 81248 / /
ACTUATOR DETAIL
22 LOUVER HEIGHT £ 144 IN
&
AUG 29 2013




BUILDING STRUCTURE/DEPTH MAY VARY.

o
&
N N
u)
N R
= 00 L L0
OB Q3
=z O
0l Mg WO z |
rdl Nz Z 2 O
= _ LJ
g |5 ¥ 2 L
LN W isE &
O
. < n
%39 | =
bl O <L
= =
© 7! Org i~ L
QY Lozl = S Z
; %D <[ D
@ @;‘Z r & O O
” Ol e =
f UN=xz|l > =
veo-40 8 Y VCD-40 CEaol 2 W w 2
777/ SEE R
§8 ozl % 5
§g o J J %
3@ n L0 g
é &" 0.C. M
o ACING 0 oM
g2 A =
Eg £SD-6330 ESD-6350 @ won =
=
%2 \W =
i s & RICE
“j_l T ENGINEERING
= ‘ ' ' 2 105 Sohool Creek Tral
C-'{ @/ e EXPANSION JOINT OF UP TO 0.25 WAY @/ Luxemburg, Wi 54217
plaeldui RIS e Soasson
—— ACTUAL LOUVER SECTION WOTH ———<~+=——— ACTUM. LOUVER SECTION WIOTH —— —— ACTUAL LOWER SECTION WIDTH ———c-fo——— ACTUAL LOUVER SECTION WITH—— v fiCE-inG.COm
ACTUAL OVERALL LOUWER WOrM ACTUAL OVERWLL LOWWVER WIOTH

Texas Fum Mo F-2183

Beautration Ne: 81248

t David Rice
D DETAL
23 | LOWER HEGHT < 144 . WIALIN OETAL MULLION DETAL
wa (m}mmnuu @Mm‘-u //
e vy

AUG ¢ 7 201




MULLION END CAP NOT SHOWN FOR CLARITY

< — = 3{i

ALTERNATE ORIENTATION — |
(CAUTION, BOLT CLEARANCE)

SUBSTRATE UMITED TO WOOD,
CONCRETE AND MASONRY

STEEL,
(CMU) (BY OTHERS). @\

0128 TP, T0 0578 —

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C.
SPACING

3%
%p
o

8/25/2010

DATE

17 OF 22

CAD DRAWING NO.

MES
1/3
ESD—-635D

DRAWN BY
SCALE
SHEET NO.

P.O.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

GIRIEENAIECH

ESD-635D LOUVER W/VCD-40
CONTINUOUS ANGLE MOUNT
JAMB AND MULLION DETAILS

LE

TIT

:

ENGINEERING

105 Schoot Creek Trail
| uxemburg, Wi 54217
Fhone: 920.845.1042
Fax:  92(0.845.1048
VAW TICE-ING.00Mm

Texas Firm No: F-2133

i David Rice
2o drarian No: 81248 //
OF /,’-‘/

AUG 29 2015




O
o
NOTES: N N
AVAILABLE SHAPES 0 N
1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE ES L | W
SIMILAR TO THOSE SHOWN AND HAVE CORNER Sl ™
CONSTRUCTION AS DESCRIBED ON ALL SHEETS. 3
2 g 00 [5
2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO =2 S E O
THE SAME PANEL WIDTH AND PRESSURE AS THE =k b B O
RECTANGULAR LOUVER PANELS AND MAY BE STACKED : B E B
VERTICALLY AND HORIZONTALLY THE SAME AS THE
RECTANGULAR PANELS.
3. WHEN SECTIONS EXCEED 36” IN LENGTH BLADE ‘oS3 o
SUPPORT ANGLE AND BRACKETS ARE REQUIRED. fé\ Sedl e T o
e T
| SInpd: = <C
= @) L
Mﬂ-; ha o v
=52 8% 3
(G o O <
| <ZE =
% 2
™~
LI-' ;
= —
g |EHUE RICE
ENGINEERING
105 School Creek Tradl
. vxemburg, W1 34217
e 920.845.1042
Fax  920.845.1048
W TICe-INC.COM
"oxas Firm No: F-2183
- etaton o: 81248
AUG 2 9 2013




SEMBEDMENT DEPTH IS EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS.

SS_OR PLATED STEEL

172° MIN, LONG

i IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED BY THICKNESS OF SHIMS.
ITEM DESCRIPTION MATERIAL NOTES ITEM | CONCRETE | CMU [STEEL| WOOD| _ MIN, FASTENER TYPE ALL FASTENERS ARE STEEL DR STAINLESS
1 LOUVER HEAD 6063-T5 ALUMINUM 50 | JAMB PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER| # RGD. [CENTERS| EDGE [EMBED.®
2 LOUVER BLADE 6063-T5 ALUMINUM 4,0695* MAX, SPACING 504 X 2KSI “POWERS WEDGE BOLT’ 3/8 | VARIES | 600 | 1.215 | 3.500
3 LOUVER SILL 6063-15 ALUMINUM 508 X 4KSI *PUOWERS WEDGE BOLT” 3/8 | VARIES | 600 | 1215 | 3.500
4 LOUVER JAMB 6063-T5 ALUMINUM S0C X 2KSI SCOTS _TAPCON /_TAPCON 1/4__|VARIES| 475 | 1500 | 1.750
5 LOUVER/DAMPER FLANGE 6063-TS_ALUMINUM 50D X 4KST SCOTS TAPCON /7 TAPCON 174 | VARIES| 6.00 | 1500 | 1.750
3 FORMED SLEEVE 5052-H32 ALUMINUM 1768° FORMED SLEEVE - DEPTH VARIES | | SOE X 15KS1 SCOTS TAPCON / TAPCON 174 | VARIES| 3.00 | 1500 | 1750
7A 1 1/2 X 1 1/2 X 1/4 ANGLE 6063-T5 ALUMINUM BLADE SUPPORT ANGLE S0F X 6SKST Fy|BOLT/NUT OR _TAPPING SCREW| 174 | VARIES| 6.00 | 0.500 | 0425
78 1 1/2 X 1| 172 X 1/4 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMB OF SLEEVE | | S0G X | SG 0.42 LAG 3/8 | VARIES | 6.00 | 1,500 | 2.375
8 1 1/2 X 6 X 1/8 ANGLE 6063-T5 ALUMINUM JAMB ANGLE, 51 | MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER| % RGD. |CENTERS] EDGE |EMBED.*
9 1172 X § 172 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMBS OF LOUVER| [ SiA X xSl *POWERS WEDGE BOLT’ 3/8 | 8/END | 150 | 175 | 3.500
10 1 1/§ X 1 1/2 X 1/8 ANGLE 6063-T5_ALUMINUM USED AT HEAD & SILL OF SLEEVE S1B X 4KSI *POWERS WEDGE BOLT” 3/8 | 8/END | 150 | 1.75 | 3.500
1 3 X 6 X 5/16 STEEL TUBE A6 STEEL SHIP LOOSE S1C X 2KS1 SCOTS TAPCON / TAPCON 174 | 9/END | 200 | 150 | 1625
12 4 X 6 X 1/4 ALUM, SHINS 5052-H32 ALUMINUM USED AT SILL FOR SUPPORT ANGLE 510 X 4KSI SCOTS TAPCON / TAPCON 1/4 | 8/END | 200 | 150 | 1625
13 BLADE BRACKET 6063-T5 ALUMINUM 45° LONG SIE X €5KSI Fy| BOLT/NUT OR TAPPING SCREW| 1/4 | 8/END | 100 | 0.50 | 0425
14 DAMPER HEAD/SILL 6063-T5 ALUMINUM SIF X_| SG 042 LAG 3/8 | 7/END | 150 | 175 | 2373 | GROWP J
15 DAMPER JAMB 6063-15 ALUMINUM 52 | MULLION ANGLE MDUNT FASTENER, HEIGHT (=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED,*|CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 3,75 MAX. SPACING 52A X 2KSI "POWERS WEDGE BOLT’ 3/8 | 12/ANG.| 3375 | 2250 3.500 | 3.766
17 DAMPER BLADE SEAL SILICONE/RUBBER_TYPE MATERIAL VARIES 528 X 4KSI *POWERS WEDGE BOLT’ 3/8 | 97ANG. | 3.375 | 2.250 | 3.500 | 3.766
18 DAMPER_JAMB_SEAL sS S2C X 2KST SCOTS_TAPCON /_TAPCON 1/4__|32/ANG.| 2000 | 1.500 | 1.750 | 3.375
19 | DAMPER TOP/BOTTOM CLOSURE ALUMINUM | 52D X AKSI SCOTS _TAPCON /_TAPCIN 1/4__|27/ANG.| 2000 | 1500 | 1.750 | 3375
204 DAMPER LINKAGE BAR GALV. STEEL Set X 1.5KS1 SCOTS TAPCDON / TAPCON 174 | 32/ANG.| 2000 | 1500 | 1.750 { 3.375
208 DAMPER LINKAGE BAR s 3 X &5KST Fy| BOLT/NUT OR TAPPING SCREV| 174 |16/ANG.| 1000 | 0500 | 0425 | 3.000
21A DAMPER AXLE BUSHING DELRIN S X 65KST Fy| BOLT/NUT DR TAPPING SCREVW| 1/4 | 11/ANG.] 1000 | 0.500 | 0188 | 3.000 |
218 DAMPER_AXLE_BUSHING BRONZE SeH X 65KST Fy|BOLT/NUT DR TAPPING SCREW| 1/4 |16/ANG.] 1.000 | 0.500 | 0188 | 3.766
21C DAMPER AXLE BUSHING sS B X 65KST Fy{BOLT/NUT DR TAPPING SCREW| 5/16 |12/ANG.| 1.000 | 0625 | 0425 | 3.000 |
22A | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN V/DELRIN BUSHING 524 X ESKSI Fy | BOLT/NUT DR TAPPING SCREW| 5716 |16/ANG.| 1.000 | 0.625 | 0125 | 3.766
228 | NON-DRIVE DAMPER AXLE ASST. |2C STEEL PIN V/BRONZE BUSHING SeK X_| SG 0.42 LAG 3/8  16/ANG.| 1500 | 1,500 | 2.875 | 3.766
22C | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/ SS_BUSHING B X | SG 0.42 LAG 3/8_ | 11/ANG. | 1500 | 1.500 | 2.875 | 3.000
22D | NON-DRIVE DAMPER AXLE ASST, | SS PIN W/ BELRIN BUSHING 53 | MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER| # RGD, |CENTERS| EDGE |[EMBED.®
[ 22E | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ BRONZE BUSHING 33A X 2KSI *POWERS WEDGE BOLT” 3/8 | S/CAP | 150 16 | 3500
22F | NON-DRIVE DAMPER AXLE ASST. SS_PIN W/ _SS BUSHING 538 X 4KST *POWERS WEDGE BOLT” 3/8__| 5/cAP | 150 1.6 | 3500
23A | DRIVE SIDE DAMPER AXLE ASST. ZC/GALY. STEEL 53C X 2KSI *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 200 | 175 | 3.500
23B | DRIVE SIDE DAMPER AXLE ASST. SS 53D X 4KST *POWERS WEDGE BOLT” 3/8 | 5/CAP | 280 | 175 { 3500
24A 1/4 DIA. E-CLIP ZP [ S3E X 2KSI SCOTS TAPCON /_TAPCON 1/4__| 6/CAP | 280 | 150 | 1.750
243 1/4 DIA. E-CLIP ss [ 53F X —4KSI SCOTS TAPCON / TAPCON 1/4 | 6/CAP | 200 | 150 | 1750
25 #8 X .75 TPH TYPE AB SMS $S 536G X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 3/CAP | 100 | 0.5¢ | 0428
26 #14 X .75 TEK zP 53H X_| SG 042 LAG 3/8 | 5/CAP | 150 | 175 | 2375 | GROUP
27h 1/4=-20 X 125 HH CS ZP [[S4 | MULLION ANGLE MOUNT FASTENER, HC=96 DIAMETER| % RQD. JCENTERS| EDGE |EMBED.*|CENTER!
278 1/4-20 X 15 HH CS SS S4A X 2Ksl *POWERS WEDGE BOLT® 3/8_| 4/ANG. | 3375 | 225 | 3.500 | 3.766
[e7C 1/4-20 X 075 HH CS sS 548 X 4KSI *POWERS WEDGE BOLT’ 3/8 | 3/ANG. | 3375 | 2.25 | 3500 | 3.766
28A 174-20 NUT P | S4C X 2KSI SCOTS TAPCON / TAPCON 174 ! 11/ANG.| 2000 | 150 | 1.750 | 3.375 |
208 1/4-20 NUT SS 54D X 4KST SCOTS TAPCON / TAPCON 1/4 | 9/ANG. | 2000 | 1.80 | 1.750 | 3.375
= REINFUORCING STRAP 18-6_SS S4E X 1.5KS1 SCOTS TAPCON /_TAPCON 1/4__|11/ANG. | 2000 | 1.50 | 1750 | 3375
30 | 1/4-20 X 562 BALL SWIVEL ZP [ 54F X 65KST Fy|BOLT/NUT OR _TAPPING SCREW| 1/4 | 7/ANG. | 1000 | 0.50 | 0425 | 3.766
31A | DAMPER BLADE DRIVE LEVER [ 54G X E5KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 6/ANG. | 1000 | 0.50 | 0425 | 3.000
31B | DAMPER BLADE DRIVE LEVER GALV, STEEL 54H X_| SG 042 LAG 3/8__| 5/ANG. | 1500 | 1.50 | 2875 | 3.766
3 DAMPER_MANUAL_GUAD_ASSY. S41 X | SG 0.42 LAG 3/8 | 4/ANG. | 1500 | 1.50 | 2875 | 3.000
33 5/16 DIA. LINKAGE ROD ZP *EMBEDMENT DEPTH IS EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS.
34 |m2-14 X 3/47 TPy Sus 18-8 59 188 35 PRI EE THE RESPONSIBILTY OF THE PERMIT HOLDER TO VERFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE
L -
o T T . 5 1172 LONG LOADS IMPOSED BY THE LOUVER(S)
/2" LD 2. THE ESD-6350 AND ESD-6350 WITH VCD-40 HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC) AND
37 1/4° DIA. SCREW Ss 17 LONG TEST PROTOCOLS TAS—201 (IMPACT), TAS—202 (UNIFORM STATIC PRESSURE), AND TAS-203 (CYCLIC FATIGUE).
38A DEAD LDAD SHIMS NOT BY GREENHECK 3. MAXIMUM SINGLE SECTION SIZE IS 72" WIDE X 144" HIGH.
388 SEALANT AND BACKER ROD NOT BY GREENHECK 4, MAXIMUM ASSEMBLED LOUVER SIZE IS UNLIMITED WIDE X 144" HIGH.
39 S 1/4 X 2 X 1/4 ANGLE 6063-T5_ALUMINUM USED AT JAMB OF LDUVER/SLEEVE | O SXCTIONS OR ASSEMBUES MAY DE STAGKED VERTICALLY PROVIDING A SUITABLE STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS
40 47 CHANNEL _6061-T6 ALUMINUM USED AT JAMB OF LOUVER/SLEEVE 8. CMU SHALL BE ASTM €80, TYPE ll, 2,000 MIN PSI GROUT-FILLED.
41 MULLION SLEEVE BRACKET S052-H32 ALUMINUM — 1 7 sTliJ-IE SI.E.I_EVE'E »rnrou"rgr gre“izusr g"ﬁfswm m%mﬁnﬁs w:&srwmmoﬁmsoo THAT DOES NOT Re%ulars &*Em‘és‘ OF FASTENERS HE'&TO DOTHEE
42 1 174 X 1 174 X 1/8 ANGLE 6063-T5_ALUMINUM MIN SIZE, JAMB ATTACHMENT ANGLE Norasmmme o smucrumm. fatoalB orasmme AT m"‘“"’s'm LOADS TRANSFERRED LOUVER. GREEN
43 | BLADE SUPPORT, ALTERNATE 6063~T5 ALUMINUM ALTERNATE STYLE 8. THE CONTINUOUS ANGLE MOUNT STYLE UTILZES A CONTINUOUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. [T MAY BE
44 | STEEL WULLION END CAP (SW) STEEL FACTORY WELDED 70 MULLION INSTALLED g:_ W u# STEEL, OR WOOD ACCORDING TO THE FASTENER SCHEDULE. GREENHECK DOES NOT DETERMINE THE STRUCTURAL
45 |ALUMINUM MULLIDN END CAP (SW) 5052-H32 ALUMINUM A INTEGRITY BSTRATE STRUCTURE.
46 | STEEL MULLION END CAP (LD STEEL F;Agltﬁl:: :EELLPJEJ’; ;g :&tﬁ T D T e e I SRR
=L FACTO El 10. LOUVER ASSEMBLY WITH AND WITHOUT VCD—40 DAMPER SHALL ONLY SE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS
47 | ALUM MULLION END CAP dLG) 2092 -H32_ALUMINUM _ FACTORY WELDED TO MULLION | DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM AND THE ROOM WILL HOUSE WATER RESISTANT/WATER PROOF EQUIPMENT,
48 |MULLION MDUNTING ANG. BRACKET| STEEL 36 KSI, OR 606116 MULLION MOUNTING ANGLE, H<144 OOMPONENTS. AND/OR SUPPUES,
49 1/4° DIA nTEAn sfun 11. INSTALLER TO PROVIDE SEPARATION OF DISSIMILAR MATERIALS AS REQUIRED.

12. THE VCD—40 MAY BE OPERATED BY A MANUAL QUADRANT OR BY AN ELECTRIC OR PNEUMATIC ACTUATOR. THE DAMPER'S ACTUATOR IS NOT
PART OF THIS APPROVAL, BUT SHALL SE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.

13. FRAME CONSTRUCTION. HEAD AND SILL ARE SQUARE CUT. JAMBS ARE SQUARE CUT @ HEAD AND MITERED © SILL. CORNERS ARE SECURED
WITH (2) §10x1-1/4 SMS. BLADES ARE SECURED TO JAMBS WITH (2) #10x1—1/4 SMS AND WELDED © EACH END,

14,
18.

WNM.ESS-SI‘EEJN.UMINUM PARTS MAY BE MADE OUT OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH.
SUPPORT ANGLE AND BLADE SUPPORT BRACKETS ONLY REQUIRED WHEN ACTUAL LOUVER SECTION WIDTH IS GREATER THAN 38 INCHES.

o
N
~ (@
e
ay S O
L
& 00 LI_Q
O E &
ol b o B
0 2 2RO
ZL‘JE Q(f)
: g 2 L
(= L I 72 [
|_
dg Z_|
Y= T o2 <
QL ¥
oYl | Z W
mI:U—'D —
(&8}
Em;>om<
%ozg>8§
@l"ﬁ—‘ojh—
W=z ~ X Z O
@C‘“.OL()BI—_J
G5 8 4 & =
a <~ n
N W)
Ll > 7~ =
= H o
) =
- %
-
=
ENGINEERING

105 Schoaol Creek Trail
Luremburg, Wi 54217
2 hone: §20.845.1042
cax. 920.845.1043
wWW.ACE-ING.COm

,1:%as Fiern No: F-2183
i.. David Rice
= agistration No: 81248 /

AUG 29 2013




5.341

T°--| 1 .250Jl—-—
e

0.125 —=i =—

5.942

|

LOUVER JAMB
6063—T5 ALUMINUM

= 0.125

—-——

1.500 |‘~
]

5.730 -

LOUVER BLADE
6063—-T5 ALUMINUM

4.655

5.730

Y

— 1.250 i-——

A —

—=i=— 0.125

6.000

] B—

—=— 0.074

i

i — |-'—0502

i

LOUVER/DAMPER. FLANGE
@ 6063—T5 ALUMINUM :

OPTIONAL JAMEB
6063—T5 ALUMINUM

= 6.000

¥

~=— 0.125

I —

B — |

—={ 1.500 |‘7
!

——iin-]

1.500 L

(
\
N
N

ANNUNN NSNS NNNN \\\
N
0.313 —N

N
N
NSO

1.500 L

Loues o e e

@ H AN LE
6063-T5 ALUMINUM

6063-T5 ALUMINUM

(1) seges
A36

6.081 -

LOUVER SHL
6063—-T5 ALUMINUM

Te]
n
w0
N <
0
w
OPTIONAL BLADE
6063—-T5 ALUMINUM
0.125 —=| t=—r
d_ 1
| —={ |=— 0.250
N —={j=— 0.125
o
3 1
m —
- | OF: s .
i 6063—T5 ALUMINUM 3
—~{ 1.500 l—~ | ?
MOORT ANGLE 6.000
6063—T5 ALUMINUM
- 6.000 -
|=———— 4.580 -——‘
3
o (=
¢ 3
S

ALUMINUM _SUPPQORT SHIM
@ 5052—-H32 ALUMINUM

LOUVER BLADE BRACKET
@ 6063—-T5 ALUMINUM

8/25/2010

DATE

20 OF 272

MES
1:2
CAD DRAWING NO.

SHEET NO.

ESD—-0635D

DRAWN BY

SCALE

P.O.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

ESD-635D LOUVER
SLEEVE /CONTINUOUS MOUNT

GREENRIECK

W/ AND W/O VCD-40
PART PROFILES

TITLE

>

ENGINEERING

105 School Creek Trall
Luxemburg, Wt 54217
Phone: 920.845.1042
Fax,  920.845.1048
W TICE-InC.com

Texas Firm No: F-2183
L. David Rice
Registration Ne: 81248




Q—D'I— 1.000 —= <— 0.655

0.479
VARIES

L’- 0.875

8/25/2010

(=]
o = 1.061 o~
4. — | S
|‘=__ — i 0317 ) 310 0.061 | Q\ %
Ei ) L
! l i 3 Lo
—=] 0.081 Ao 0. — L B M)
o S ‘? g
DAMPER HEAD/SILL < <+ .DAMEEB_B.I.AD.E_SEAL DAMPER JAMB SEAL bl o 2 N 2 O
6063—T5 ALUMINUM MATERIAL VARIES 007" S5 @ ==~ g 7
- L
| PP PR v R R T
s BB B
o
3 o ~_ KNURL PIN o —
p |==»— 2.500 —«==i 3 PO 5 G =
i DAMPER BLADE i 3.620 ] 3.620 e 3 3
60T 15 ATUMIRUM 6063—T5 ALUMINUM | : = ' Oull =
|
| » ) T — |REH Y L, 80
n U o L
N ) 1
7 0.618 _?_ \p|N - N PN ? o2l 038 @
0.376 BUSHING \ m~3 3 3 o o
. MATERIAL VARIES & ML LEVER %éé o £ > &
gV i}
S = by (] P
NON-DRIVE DAMPER AXLE ASSY, DRVE-SIDE DAMPER AXE assY. | a5 2 & ok
i @ MATERIAL VARIES @ MATERIAL VARIES o =z &
DAMPER AXLE BUSHING (445" LG.) o N < o
MATERIAL VARIES O W
W g
Ll
NN
|
P
=

. 6063—TS5 ALUMINUM

l
L’—— 5250 ———
! — ‘<='— 0.125

RICE
™ ENGINEERING

School Creek Tral
embug, W1 54217
phone: 920.845. 1042
Fax  920.845.1048
WWW.RCE-ING. com

1257/ 154

g

—= =— 0.250

— 2.000 L

7

(40) R MULLION.SLEEVE BRACKET
6061-T6 ALUMINUM 5052—-H32 ALUMINUM

<+

o

10

Texas Fym No: F-2183

—= 1.250 Lﬂ—‘

q-
™~
w
(]
8
(AR, 5 l ™
606.'5—T5 ALUMINUM - \
ALTERNATE LOUVER BLADE BRACKET
6063—T5 ALUMINUM

"AUG 29 2013




o
—={ 1584 |=— = LENGTH o O
ALUMINUM < CENTERED <
MULLION DRAIN HOLE FOR PAINT PROCESS Ny N
LOCATION r A rk B j 0 o\
8 -
& E% (. L
=
3 T O O O o o O O g 4
3 W =
B B c ni Y5 N § |
S eV4 STEEL O O =2l Nz ooy g O
MULLION =2 Whl i s ()
|
g QUANTITY VARIES WITH Lo B z |2 | 2 L
FASTENER TYPE PERIMETER WELD D e lo |u &
g 3/6]7
FOR_SLEEVE MOUNT SUBSTRATE EDGE
5052—H32, 0.25 ALUMINUM ZS1, 2 U \ Se =
FELD DRILLED \ §} 1§  ————= — ] N5 S5 o
)
LA - +  + + + + + DLl o 27
~ |
A | | Wzt o = 4 o
Loz = 0 oW
FOR SLEEVE MOUNT ﬂ>| ol R R TS
0.313 STEEL ? i:a ==f- s S o
A LIFTING LUG i M¢§ - 209
DIM DESCRIPTION @ & W=z =z &
A 20.375/0.50 FOR 1/40 FASTENER IN ALUMINUM/STEEL 0.313 STEEL N 50 > @g% n E =0
A 20.563/0.75 FOR 3/8¢ FASTENER IN ALUMINUM/STEEL FILLER 37721 k4 o (GH ~ : ﬂi Sg3 M Z —
B 2FASTENER SPACING DISTANCE © O 0O
C  >FASTENER CLEARANCE HOLE DIAMETER —— —}lr | Q % <C
D  2FASTENER SUBSTRATE EDGE DISTANCE e LENGTH ] o a
GROUP CENTER = CENTER OF FASTENER HOLE PATTERN ‘% SUBSTRATE EDGE rnguggEE?é ALLOWED & a ~-
_z/_ /Y ) CFILLER k=
< LENGTH ] —— === ) N T
= A lq7 B 4‘>| QUANTITY VARIES WITH o ' d B “OUSSET SUPPORT E
6 FASTENER TYPE g | & | EXTRUDED ANGLE OR { € (FF REQUIRED) TWG WELD STYLE -
A 6 ) E D o | WELDED PLATES 4”x4" TRIANGLE VARIES —c=f feo— OPTIONS ‘
i ONE AT CENTER #2°, :
l? ELDUMINUM z l OR ONE NEAR EACH END E OWER 156 ) RI CE
~ _L B B c MULLION g 3 L \wﬂ/ VA ENGINEERING
2L Sy of o v 5 8 72N\ KR, |8 g Prremmmdue | mamce
$ o SUBSTRATE EDGE ot i é} B / i | " N y “rone: 9208451042
H_ _e_ FIELD DRILLED / ﬁ( B = E %/3 CFILLER oo sioe nc.com
A + —|_ —|_ / QUANTITY VARIES WITH ;axas Firm No: F-2183
ASTE 1. Diavid Rice
| _:l L ! 8/2 6 NER TYPE \<) 2 ommation No: 81248 //
ANTITY WITH SIDE VIEWS  FILLER MAT'L.
L A 1:,3 \— %«JSTENER Y,‘%ES A SHOWN AT ALUM=4043 OR 5356
{ L Fd J 1/2 SCALE STEEL=E70XX
FOR_CONTINUOUS ANGLE MOUNT A B -
FOR CONTINUQUS ANGLE MOUNT
5052-H32, 0.25 ALUMINUM VARIES, SEE B.0.M. & TABLES BELOW
MULLION MOUNTING BRACKET TABLE, I OF 2 MULLION MOUNTING BRACKET TABLE, 2 OF 2
LOUVER|SUBSTRATE| LOUVER [GUSSET[MIN CUT{ MAT‘L | PROCESS LOUVER |SUBSTRATE | LOUVER |GUSSET|MIN CUT| MAT’L | PROCESS
HEICHT |LEG THK.|LEG THK.| THK. |LENGTH| TYPE TYPE HEIGHT [LEG THK.|LEG THK.} THK. |LENGTH| TYPE TYPE
<144 21/2 z1/2 Na 165 |6061-T6&|EXTRUDED $96 21/2 zl/2 NA 6.6 6061-T6|EXTRUDED
£144 27716 27/16 NA 24 A36 ROLLED 596 23/8 23/8 NA 12.34 STEEL | ROLELED
€144 21/2 zl/2 NA 18.5 A36 ROLLED <96 27716 27/16 NA 9 STEEL | ROLLED
<144 23/16 21/4 25/16 c0 6061-T6| WELDED <96 25716 2174 25/16 9 6061-T6| WELDED
<144 25/16 23/16 25716 20 STEEL | WELDED <36 25716 23/16 25716 9 STEEL | WELDED




